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[ACC206] One of the following is not an advantage of continous stock taking
it take a lot of time

[ACC206] Very low stock level can lead to the following except
excess capital tied up

[ACC206] One of the following is not a method of stock valuation
first in last out

[ACC206] Nelson ltd has the followin data with respect to stock levels per week.Normal 
usage    60 units. Maximum usage    140 units. Lead time       1-3 weeks. EOQ     300 
units. Maximum stock level is
660

[ACC206] The performance based method used in calculating workers pay is known as
output based method

[ACC206] All except one of the following are components of conversion cost
raw material

[ACC206] One of the following is not a fixed cost
raw material

[ACC206] One of the following is not a record used to document time a worker spent on 
a job.
bin cards

[ACC206] The basic salaries, overtime pay, acting allowance, etc paid to workers are 
known as
emoluments

[ACC206] The record of Mr. Eze in Henry ltd shows the following      : Standard output 
allowed: 100 units in 1 hour   Actual production       2500 units in 18 hours   Normal day 
rate             Ã¢â€šÂ¦15 per hour. The total earning of Mr. Eze using Halsey method is
Ã¢â€šÂ¦322.50
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